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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in frent of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the studen! will be respensible for the situation.
Use of ink remover or white correcting fluid is not aliowed.

(D) (C) (B) (A} QUESTIONS Q-‘.—‘
BAA A Go # s L un By LI st 1
Non-collinear Collinear Equal Zero Points which do not lie on same straight line
are called
a®+ b’ a’- b? (a + b)® (a-by (a-b) (a’+ab+ b= 2
" JJ;’ e J rfl,sz» _/Ulﬁfb:? - H.chx:/w J/Md: Lﬂ:xu"’btﬁfug 3
Natural Rationa! . An irrational number that contains radical
number number Surd Mixed surd sign is called
3 2 1 0 -c‘:.. t'ﬁ.._»‘: 5’ (:’}inf&))/ 4
A cubic polynomial is of degree =
(x-1){x-5) (x+1){x-5) (x-1)(x+5) (x+1)(x+5) Factorization of (x-i~3}2 -4is -< d/Zd’ {x+3)2 -4} 5
5 3 1 4 -Q-J’J;JUQ)LL;erfﬂéh 6
The number of methods to find H.C.F are
J’;“ S .:;Ltl//_; sl e alk‘(‘:._/r.:ch‘;/;_'ifaf.!v;f;? =Ll T
CHiStERL Solutio | alit E uétiOﬂ Any value of the variable which makes the
e § PagUALY q eguation a true statement is called the
{5, -3} -5, 3} (-5, -3} {5. 3} Solution of |x-11=4 is e dr S ix-11=4| 8
(3} {3} {£9} ) Solutionof X*-8=0is e 2rf¥x-9=0] ¢
a5 PN o = .'.. ..—..ff o
4 0 1 5 e bbby’ A7 1
A linear equation in one variable is of degree
t_ =
A'B! A'+ B' (B A (AsB) B i
In matrices (A+B) =
&;‘ H'f J A =7 —&- J/ﬁU}( --—-—’ il A (f;l,t; L,(u:J Kl UssB5 ] 12
Determinant Columns Rows Order Number of rows and columns in a matrix
determine its
360° 270° 180° 90° S R
A straight angle contains.
- Zes (3:#)[)—"-(5035&/1(}:&15‘»@ 14
4 3 2 1 !
' The number of medians in a triangle is
72 27 r r? mr et iK't K eIl 15
Area of a circle with radius 'r' is
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Answer briefly any SIX parts from the followings:-

What are mixed surds.
if P(r)=27xr then find P(r), forr=3and @ = —2?3
Factorize X +y-xy-x  -ZLU7 (iv)
Factorize x°+5x- 14
Factorize a’h®+ 512
Define LC.M=7
Find H.C.F by factorization 14a’bc ; 21ab’
Find L.C.M by factorization 3a%b%’ ; 5a%6’c’
Answer briefly any SiX parts from the followings:-
Define linear equation.
Solve 3(2x-1)=5{x-1)
Solve |2x-3|=5
Define quadratic equation.
Solve by factorization 252 = 3x
Solve by factorization x*-8x+5=0

Define scalar matrix.

4 3 2
IfA: 2 6 -1 then find 3A
-3 4 17

1 2 ~1 3
if A=y S bB=, ,|thenfindBA

Answer briefly any SIX parts from the follbwings:-

Define Parallelogram.

The sum of two angles is 100°, and the difference between

their suppliments 100°. Find the angles.
Define Median of a triangle.

Draw a circle of radius 2.5 cm with center at O.
Define sphere.

Write the formula to find the area of a circle.

Define non-collinear points.

Find the distance between the pairs of points (-2, 3}, (7, -2)

Find the value of angle b in the figure
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22 p
u:/"r:‘VF’(r)?TU’ 7 =7 sr=33n P(r)=2xr Ji (ii)
simplify 4+/50 ++4/200 +4/50 ./ /A7 (iii)

X +5x-14 _&bd A0z (v)

a’d’+ 512 L yg (vi)

22 Ly P Sbsiss (i)

14a%bc ; 21ab2- S s LS F (wiii
3a'b%c? ; 5a’b’c® S o LA (ix)
6x2=12 _J_):,f.;,px/ﬁélm 7 .:..J:(r_.uf;,tibn -
Al @)

3(2x-1)=5(x-1) 2= S (i)

[2x-3/=5 2= (iii)

S G (V)

2¢=3x E Stk V)

-6x+5=0 -2 SUfah (vi)

Ay ALY g )

4 3 2]
3A -ér}#;’h 2 6 ~1i 5 (vii)
-4 4 %)

—22]’ Bz[ 4l ; A

ox2=12 -yl ez L7 5 S LLits 4

L@ S (i)

e 100° G UAFL e 100° oo Kugatins (i)
NP A

SIS @S e Lt (i)

L KU K T 25740 K7 (iv)

ISP ES W)

KL S5 (Vi)

S S A2 (vil)

Ao glen(1,22), (2, 3) bE (Vi)

1
BA &L A=[3

Em/_ _Jf(}v»;&-J b & r:_-u}f (ix)
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Note - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fili the circles. Cutting or filling two or more circles

will result in zero mark in that question.
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Write PAPER CODE, which is printed on this question paper, on the both

sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) Fe] (B) (A) QUESTIONS Q-1
1 5 5 - e GBS Lt el L]
The number of altitudes in a triangle are
£xb 1 s _l JRE B ¢ Area of a rectangle is e K‘)':h:/ 2
2 3
Distance Collinear Non-collinear { g . .
qual points D o NE e e 3
Formula points points d= \[(xz J_C') + (=) iscaled
a®. b’ a* +b® (a+b)’ (a<b)° .. (a*b)(a’-ab+b)="? 4
% 2 1 I 0 ..‘L.._?ﬂf \G=a% fiiﬂﬁ’ 5
- '\/E =a’* is a surd of order.
@+1) @-1) |@NEt)E)| (a-1)@%1) | (a*+1)(a+1) |Factorization of a*- 1 is e $ffat-1] 6
X(x+y) Xy Xty y(x%+x) Factorization of 3* + xy is. e d,;d/ 2+ xy| 7
3 2 1 4 — J!J}’-Ju.é’)é H_../r’}”'(hyi;li 8
The number of methods to find H.C.F. are
x| J; -X X ~& rwf,-u,f_,f JWJXJJ‘I g
For each number ' the absolute value of x is denoted by
e e delthe | edilize b ce QeSS 2| 10
Le than or | Greater than
Greater than esgualato orr equral to Less Than |The symbol < stands for
3x - 2x° 2x° = 3x X (2x - 3) 0 Factorization of 2x* - 3xis -« SAS 22 - 3x| 11
e P e 2xrd =0 4
{1} {0} {-1} {r.-1 2 + 2x +1 = 0 has the solution set
. . , ‘ e ¥ Izl | 13
2-by-3;2x3 | 2-by-1;2x1 | 1by-2;1x2 | A-by-101XT |\ order is of square matrix
I S Jede IFGE 0 0 0 0 14
Rectangular Matrix| o |is called - b 0 ol =F
Null matrix matrix Column matrix | Row matrix
i NG | e ol G | 2L G Ust il 2L AU e Qo S et 5 15
Right angled Scalene Equilateral Isosceles A triangle with no equal side is called

1025-1018- 14000
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Answer briefly any SIX parts from the followings:-

xt - }__2

Simplify m;

Solve with formula (3¢ +2m)°* - (3¢ - 2m)*

Define pure surds.

Factorize 27x®- 64y’

Define the factor theorem.

Factorize 3ax + 6ay - 8by - 4bX

Find H.C.F by factorization 14a’bc , 21ab’

Find LCM by factorization p°q - pa’, p’g? - p’d”

Define H.C.F.

Answer briefly any SIX parts from the followings:-

Define linear equation.

Solve |3x+ 4|=9

Write standard form of quadratic equation.
Solve 2x° = 3x

Write quadratic formula.

Define Scalar matrix.

4 3
Find additive inverse of following matrix A ={ }

2 6
_ A= =% 5
Find determinant = 1 4
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